 DIVIDING MULTIPLES OF TEN 1 iR |

TARGET  To divide 2-digit and 3-digit multiples of 10 by one-digit numbers.

Examples
80+4=10x8~+4
=10X 2
= 20
Divide by 10.
40 20
70 90
80 30
50 60

Copy and complete.

80 +2=10x8+2
=10%[ |
=[ |

60 +3=10x[ |+3
=10 X[ |
=| |

450 + 5 =10x45+[ |

]

Il

120 + 4

|
N

AnE B
L]

Work out
200 + 4 160 + 2
60 + 2 120 = 4
100 =5 B 240 = 3
180 =3 ¢5) 350 +~ 7

270 -3 =10x%X 27 + 3

=10Xx9
=90
c
Copy and complete. Copy and complete.
D 2-3-[] @ 560 =80
120.% 3= |
| ~ @[]3-e
) 8 +4=] |

80 + 4 =[] © 450 - [ =50
3 ]O+2:D °D+7=20

100 2= | )
] © 160+ |=80
D 15+5=[ | o

150+5=[ ] (@LJx6=30
P 40+8=] | @ 280-[ |=70

400 + 8 =[ | O |-9=40
O 21 3= |

21023 — D Work out

; © 1400+ 2 @ 3200+ 4
Write the answer only.
£ 240 - 4 @ 3500 -7 @ 1500 + 3
&) 40 + 2 @ 3000 -5 @ 4800 + 8
& 320+ 8 @ 2700 = 9 @ 2400 = 6
O 240 = 3
i) 120 = 2 Work out
@ 360 - 4 @ 120+-4 € 7200 - 8
® 400 = 5 @ 120 - 40 € 7200 + 80

& 9% =3 @ 2500 -5 € 1200 + 20

© 250 = 5 € 2500 + 50 € 1200 + 200

(5 280 = 4

& 180 - 2 @ 180 -2 € 4800 + 6
&) 160 ~ 8 @ 180 =+ 20 @ 4800 ~ 60




